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1. The expression “x € A” means that z is an element of A. T

2. The set {z|z € Z and = > 0} contains all integers = such that x is greater than or equal
to 0. ,_‘/

3. The set N represents the set {0,1,2,...}. “X

4. Write out the elements of the set {a,b,{a,b}}. a)b 3 ZA ) b 3

Section 2.1 Sets (Part 1)

Sets Notation

P 1. Write down a set named A which contains two elements. Write down a set named B which
contains three elements. Write down a set named C which contains the set A and contains
elements from the set B.

P 2. How many elements does the set {1, {(0},0} contain.

P 3. Write out the elements of the following sets. o ; s |GGl
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P 4. List the elements of the set {1,{a},a} \ {a}? :@j_{% )}1?2‘#;) KR i
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P 5. Let A={1,2,3,4}. List all the subsets B of A such that B C {1, 2}.
13, 013,035,0,2%

Definition
The power set of the set A, denoted by P(A), is the set of all subsets of A.

P 6. Write the power set P(A) for the set A = {{1,2},3,{}}.

P 7. How many elements are in the power set of a set containing exactly three elements?
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